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{ZX}e :  g^r àíZm| Ho$ CÎma Xr{OE & 
Instructions :  Attempt all questions. 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 8 h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na {bI| & 
 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >4 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 

 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• _| 
10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a 
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 8 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 4 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minute time has been allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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1. {ZåZ{b{IV _| go {H$Ýht Xmo  H$m CÎma Xr{OE :  6 2=12 

(H$) \y$bJmo^r, ~§XJmo^r Am¡a gmoboZogr gpãµO`m| _| g§H$a ~rOmoËnmXZ H$s AmZwd§{eH$ 
aMZmAm| ({H«$`m{d{Y`m|) H$m Cn`moJ H¡$go H$aVo h¢ ? 

(I) nmofH$ qgM`Z (\${Q>©JoeZ) H$m _hÎd d Bgo AnZmZo H$s {d{Y {b{IE & 

(J) \y$bJmo^r _| {d{^Þ A^mdO{ZV {dH$mam| H$m H$maU Am¡a {Z §̀ÌU Cnm` {b{IE & 

Answer any two of the following :  

(a) How are genetic mechanisms available in cauliflower, cabbage and 

solanaceous crops used for hybrid seed production ?  

(b) Write the importance of fertigation and the method of its adoption. 

(c) Write the causes and control measures of different physiological 

disorders of cauliflower. 

2. {ZåZ{b{IV na g§{jßV {Q>ßn{U`m± {b{IE :  3 6=18 

(H$) nm¡Ym| Ho$ hm°_m}Z  

(I) ~§XJmo^r _| F1 g§H$a {H$ñ_m| H$s Cn`mo{JVm 

(J) Q>_mQ>a _| F1 g§H$a {H$ñ_m| H$s Cn`mo{JVm 

(K) ñàmCqQ>J ~«moH$mobr 

(L>) Zg©ar H$s XoI^mb 

(M) dZñn{V {dkmZ (gãµOr) Ho$ joÌ _| amoµOJma Ho$ Adga 

Write short notes on the following : 

(a) Plant hormones 

(b) Role of F1 hybrids in cabbage  

(c) Role of F1 hybrids in tomato 

(d) Sprouting broccoli 

(e) Nursery management 

(f) Job opportunities in vegetable science 
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3. A{V g§{jßV CÎma {b{IE : 1 10=10 

(H$) J_u _| V¡`ma hmoZo dmbr _ybr H$m Zm_ {b{IE &  

(I) OëXr V¡`ma hmoZo dmbr \y$bJmo^r H$m Zm_ {b{IE &  

(J) {dQ>m{_Z ‘gr’ H$s A{YH$Vm dmbr EH$ gãµOr H$m Zm_ {b{IE &  

(K) S>¢qnJ Am°µ\$ gãµOr Zg©ar H$m J§^ra ___________ h¡ & 

(L>) àmoQ>rZ H$s A{YH$Vm dmbr EH$ gãµOr H$m Zm_ {b{IE &  

(M) Iarµ\$ _| n¡Xm hmoZr dmbr ß`mO H$s {H$ñ_ H$m Zm_ {b{IE &  

(N>) µ\$mo_mopßgg amoJ go J«ñV EH$ gãµOr H$m Zm_ {b{IE &  

(O) \y$bJmo^r _| H$mbm g‹S>Z amoJ Ho$ amoJH$maH$ Ord H$m Zm_ {b{IE &  

(P) Q>_mQ>a Ho$ \$bm| _| bJZo dmbo H$s‹S>o H$m Zm_ {b{IE &  

(Äm) {_M© _| VrIonZ H$m H$maU {b{IE &  

Write very short answers : 

(a) Name the summer season radish. 

(b) Name the early season cauliflower. 

(c) Name a vitamin ‘C’ rich vegetable.  

(d) Damping off is a serious _________ of a vegetable nursery. 

(e) Name a protein rich vegetable. 

(f) Name an onion variety suitable for Kharif planting. 

(g) Name a vegetable which is affected by Phomopsis disease. 

(h) Name the causal organism of Black Rot disease of cauliflower. 

(i) Name the insect affecting tomato fruit. 

(j) Write the cause of pungency in chilli. 

4. ghr CÎma Mw{ZE : 1 20=20 

(i) gmoboZogr gãµOr h¡ 

(A) bm¡H$s 
(~) ~¢JZ 
(g) H$aobm 
(X) ~«moH$mobr 
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(ii) OëXr VWm A{YH$ Vmn_mZ na V¡`ma hmoZo dmbr \y$bJmô r h¡ 
(A) nygm ñZmo~mb-1 
(~) nygm ñZmo~mb Ho$.-1 
(g) nygm qgWo{Q>H$ 
(X) nygm _oKZm 

(iii) ãb¡H$ boJ EH$ ~r_mar h¡  
(A) Amby H$s 
(~) JmOa H$s  
(g) _Q>a H$s 
(X) ~§XJmo^r H$s 

(iv) \y$bJmo^r Ho$ N>moQ>o nm¡Ym| _| N>moQ>m \y$b H$m ~ZZm H$hbmVm h¡ 
(A) H$B© \y$b H$m ~ZZm 
(~) ãbmB§S>Zog 
(g) ~Q>qZJ 
(X) ~«mCqZJ 

(v) ~§XJmo^r _| ~rO ~ZmZo Ho$ {bE Xmo Om{V`m| Ho$ ~rM H$s AbJmd Xÿar (_rQ>a _|) h¡ 
(A) 150 _r. 
(~) 300 _r. 
(g) 1000 _r. 
(X) 2000 _r. 

(vi) \y$bJmo^r H$m d¡km{ZH$ Zm_ h¡ 
(A) ~«¡{gH$m BQ>¡{bH$m   
(~) ~¡«{gH$m MmBZ|{gg   
(g) ~«¡{gH$m Amobra¡{g`m  d¡amBQ>r H¡$nrQ>¡Q>m   
(X) ~«¡{gH$m Amobra¡{g`m  d¡amBQ>r ~moQ´>mB{Q>g   

(vii) Q>_mQ>a _| br\$H$b© amoJdmhH$ H$sQ> h¡ 
(A) O¡{gS> 
(~) ìhmBQ> âbmB© 
(g) Eo{\$S> (Monm) 
(X) \«y$Q> âbmB© 
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(viii) dfm© G$Vw H$s gãµOr h¡ 
(A) nmbH$ 
(~) ~«moH$mobr 
(g) bm¡H$s 
(X) ~WwAm 

(ix) bVm (~ob) dmbr gãµOr h¡ 
(A) {e_bm {_M© 
(~) Mm¡bmB© 
(g) nadb 
(X) bmb ß`mO 

(x) BZ_| go H$m¡Z-gm àm`: na-nam{JV hmoVm h¡ ? 
(A) Q>_mQ>a 
(~) JmOa 
(g) H$aobm 
(X) ~¢JZ 

(xi) Amby _| H§$X ~ZZo H$m Am¡gV Vmn_mZ h¡ 
(A) 8 – 10C  
(~) 12 – 16C 
(g) 18 – 21C 
(X) 23 – 25C 

(xii) EH$-~rO dmbr bVmXma (Hw$Hw$a{~Q>o{e`g) gãµOr h¡ 
(A) Vmoar 
(~) {^ÊS>r 
(g) MmC MmC 
(X) {e_bm {_M© 

(xiii) Vmoar H$m d¡km{ZH$ Zm_ h¡ 
(A) bwâ\$m {gqb{S´>H$m   
(~) {gQ®>bg dëJ¡[ag    
(g) Hw$Hw${_g _obmo   
(X) Hw$H$a{~Q>m nonmo   
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(xiv) \y$bJmo^r Ho$ ImZo dmbo ^mJ H$mo ___________ H$hVo h¢ & 

(xv) ~§XJmo^r Am¡a \y$bJmo^r H$m CX²J_ ñWmZ ~VmBE & 

(xvi) \y$bJmo^r _| goë\$-ãb¢qMJ Š`m h¡ ? 

(xvii) ~WwAm H$m d¡km{ZH$ Zm_ ~VmBE & 

(xviii) Amby _| ~rO gwßVmdñWm H$mo H¡$go Xÿa H$a|Jo ? 

(xix) Amby _| ___________ ~hþV J§^ra ~r_mar h¡ & 

(xx) Amby H$s ___________ Om{V {Mßg ~ZmZo Ho$ {bE g~go Cn ẁº$ h¡ & 

Select the correct answer : 

(i) A solanaceous vegetable is  

(a) Bottle gourd 

(b) Brinjal 

(c) Bitter gourd 

(d) Broccoli 

(ii) Early, high temperature maturing cauliflower is 

(a) Pusa Snowball-1 

(b) Pusa Snowball K-1 

(c) Pusa Synthetic 

(d) Pusa Meghna 

(iii) Black leg is a disease of 

(a) Potato 

(b) Carrot 

(c) Peas 

(d) Cabbage 

(iv) In small cauliflower plants, the formation of small curds is known as  

(a) Multiple curd 

(b) Blindness 

(c) Buttoning 

(d) Browning 
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(v) The isolation distance between two cabbage varieties for seed 

production (in metres) is  

(a) 150 m 

(b) 300 m 

(c) 1000 m 

(d) 2000 m 

(vi) The scientific name of cauliflower is  

(a) Brassica italica   

(b) Brassica chinensis   

(c) Brassica oleracea var. capitata   

(d) Brassica oleracea var. botrytis  

(vii) Insect vector that spreads leaf curl disease in tomato is  

(a) Jassid 

(b) White fly 

(c) Aphid 

(d) Fruit fly 

(viii) A rainy season vegetable is 

(a) Spinach (Palak) 

(b) Broccoli 

(c) Bottle gourd 

(d) Chenopodium 

(ix) A creeper vegetable is 

(a) Shimla mirch (Capsicum) 

(b) Amaranth 

(c) Pointed gourd 

(d) Red onion 

(x) Which of these is often cross-pollinated ? 

(a) Tomato 

(b) Carrot 

(c) Bitter gourd 

(d) Brinjal 
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(xi) Optimum tuberization temperature in potato is  

(a) 8 – 10C 

(b) 12 – 16C 

(c) 18 – 21C 

(d) 23 – 25C 

(xii) A single-seeded cucurbitaceous vegetable is 

(a) Tori 

(b) Okra 

(c) Chow Chow 

(d) Shimla mirch (Capsicum) 

(xiii) The scientific name of tori is  

(a) Luffa cylindrica  

(b) Citrullus vulgaris   

(c) Cucumis melo  

(d) Cucurbita pepo  

(xiv) The edible part of cauliflower is called ___________. 

(xv) Name the place of origin of cauliflower and cabbage. 

(xvi) What is self-blanching in cauliflower ? 

(xvii) Write the scientific name of Bathua. 

(xviii) How is embryo dormancy broken in potato ? 

(xix) ___________ is a very serious disease of potato. 

(xx) The variety ___________ of potato is the most suitable variety for 

the preparation of chips. 
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